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[1] BHEEDEIZET HRDOBVIZEZ RSV,
(1) B3EEDEBHCL (BE: C,) 12OV, BREEERK,. BEE=X, BENHEXEC, [HY], [0H7], [BH*], [B] TEL
&Y,

(2) FfEBEELRK,%C,, [H], [OHT] TELRE,

(3) PFEEOEDIHEMEEZE LU TH%C, K, TRLRIV,

(4) KNI SWBEK, & S BITERILTC[HY]%C,, K, TRLR SV,

(5) LT v =17 ADC,=1.25x 1072 mol/dm3, 7 F=7 DK, =1.95%x 1075 mol/dm3D & &, pHERDL I\,
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[2] UTOEERDZRIV,
(1) 2.00X107 mol/dm® @Y L EE—/KkFEF FU A 2.00 dn® & 5.00X107 mol/dm® DV L Ee—kFEF MU U A 400 dn® %
BT KB DOpHZ RO 2 EN, 12721, U VBRDpK,, =2.15, pKyy =7.20, pKas =12.358 3 2,

(2) =YL b C¥ =TV E=T N RIZBVT, 2590 bA AU ORBEE 1.0X107 mol/du’, REISDT E=T REE
2.5X 107 mol/dm® & Uiz & &, &8R4y [Co(NH) 2] (n=1~6) DIRE % i L TR b BRE RS DERERD 2
W, 7272 L. Co¥-NHs RDlogK, =2.0, logB, = 3.5, logBs = 4.4, logBy = 5.1, logBs = 5.1, loghs = 44 £ 5 %,

(3) KBS 15.00°C T, [Zn*]=2.00X 1072 mol/dm’, [Cu®*]1=3.00X107° mol/dm* D & &, HERLEAMDEE1Z KD S
W, 727U, B%Z=-0.76 V E%*/,=+0.34 V C, TAE#IEL8.314 J/K-mol), 77 TT —EHIL 96485 C/mol,
Mt FEE13-273. 15°C, loge=0.4343 £33,




